
AVR-C-Projekt 603_IRDMS
21 RWNA Ablaufdiagramm 2

Stand: 05.06.2013

Copyright © 2009 by

D-64342 Seeheim

Alwin J. Lenck

Tabellen

Loop 4

Loop 4

Return

Return

Return

Return

Return

NL = W1

NL
min. oder

max.

NL = W2

i < 24

W1<NL<W2

TRUE

TRUE

TRUE

TRUE

TRUE

FALSE

FALSE

FALSE

FALSE

FALSE

NP = P1
NV = V1

pro =
(NL-W1)/
(W2-W1)

NP = P2
NV = V2

NP = 0
NV = 0
bzw.

NP = PMAX
NV = VMAX

NP = P1 +
pro*(P2-P1)

NV = V1 +
pro*(V2-V1)

W1 = W[i]

P
P2

V2

W2 = W[i+1]
1 = P[i]

= P[i+1]
V1 = V[i]

= V[i+1]

i = 0

i = i + 1

Messen

Loop 3

Loop 2

Loop 2

Loop 3

Return

j < 32

i < 8

TRUE

TRUE

FALSE

FALSE

AE
lesen

Delay
10 ms

i = 0

NL = 0

AM = 0

j = 0

AM = AM / 32

NL = NL / 8 Ergebnis NL

NL =
NL + AM

j = j +1

i = i +1

AM =
AM + AE


